MATHS
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SQUARES AND SQUARE ROOTS AND
CUBES AND CUBE ROOTS

1. Find the value of 100012



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_9ZcLwCG9nYgg

l ° Watch Video Solution

2. Find the value of 99992

° Watch Video Solution

3.Find (102)°

° Watch Video Solution

1 2
40F. 4 -
ind ( 92)


https://dl.doubtnut.com/l/_9ZcLwCG9nYgg
https://dl.doubtnut.com/l/_a5cAG9urSTa5
https://dl.doubtnut.com/l/_SplRBvK1uVxW
https://dl.doubtnut.com/l/_9gawROVOITpd

° Watch Video Solution

5. Find the number of three digit perfect
squares which has a non zero perfect square

unit digit

° Watch Video Solution

6. X and Y are single digit natural number

satisfying X2 + Y3 = 793 find X+Y

o Watch Video Solution



https://dl.doubtnut.com/l/_9gawROVOITpd
https://dl.doubtnut.com/l/_4Oa2LapyW6LU
https://dl.doubtnut.com/l/_QmyohYQyP1wJ

7.Find the square root of 64 using the method

of successive subtraction

° Watch Video Solution

V324

7/ 1225
value of \ /42—I (c ) Find the value of /0.0256

(d) Find the value of 1/52.2729

8. (a) Find the value of (b) Find the

o Watch Video Solution



https://dl.doubtnut.com/l/_QmyohYQyP1wJ
https://dl.doubtnut.com/l/_1Yq6gRnMfvLE
https://dl.doubtnut.com/l/_nYlxswlYGLaV
https://dl.doubtnut.com/l/_sFItPY23KQgf

9. (a) Find the square root of 1.5129

(b) Find the square root of 0.00484

o Watch Video Solution

10. Find the square root of 127 and correct it

to three places of decimal

o Watch Video Solution



https://dl.doubtnut.com/l/_sFItPY23KQgf
https://dl.doubtnut.com/l/_S37VbdYZxpg4

11. Examine if (a) 192 (b) 77444 are perfect

cubes

o Watch Video Solution

12. Examine if 1512 is a perfect cube .If not find
the smallest number by which it must be
multiplied so that the product is a perfect
cube .Also find the smallest number by which
it must be divided so that the quotient is a

perfect cube.

| & I


https://dl.doubtnut.com/l/_NmOCAOoJ9DlC
https://dl.doubtnut.com/l/_3IHUktVubPiN

| ¥ Watch Video Solution |

13. Write the digit in the units place for the
cube of each of the following number
(a) 121 (b) 25 (c )89 (d) 52

(e )58 ()33 (g)67

o Watch Video Solution

14.Find 23° using alternative method

o Watch Video Solution



https://dl.doubtnut.com/l/_3IHUktVubPiN
https://dl.doubtnut.com/l/_cWoNfMrHfnzw
https://dl.doubtnut.com/l/_m7Cu8JrmsI57

15. Find 989° using alternative method

o Watch Video Solution

16. Find the cube root of 343 using the method

of successive substraction

° Watch Video Solution

17. Examine if 130 is a perfect cube .If not then

find the smallest number that must be


https://dl.doubtnut.com/l/_RRQLZz5Mbpcx
https://dl.doubtnut.com/l/_YSRGBLuNhqLL
https://dl.doubtnut.com/l/_deXUkhfFx2Kn

substracted form 130 to obtain a perfect cube

o Watch Video Solution

18. When 4817 is divided by acertain positive

number the quotient is 3 times the divisor

and the remainder is 17 Find the number

o Watch Video Solution

19. Find the cube roots of the following

number by finding their units and tens digits.


https://dl.doubtnut.com/l/_deXUkhfFx2Kn
https://dl.doubtnut.com/l/_yAslOaW1n3uZ
https://dl.doubtnut.com/l/_CGxUqWjYh0RH

1) 512

2) 9261

° Watch Video Solution

20. Find the cube root of the following using
prime factorisation method

(a) 373248 (b) 27000 (c )17576

° Watch Video Solution

21.Find the value of /1% + 2% + 3% + ...10°


https://dl.doubtnut.com/l/_CGxUqWjYh0RH
https://dl.doubtnut.com/l/_ecmjfc1Yiv4r
https://dl.doubtnut.com/l/_zNd1BtpIRrGK

° Watch Video Solution

=16 which of the following

22. If 3\/x +
Ve 3z

can be the value of x?

A.6
B.8
C.12

D. none of these

Answer: N/A

| N I


https://dl.doubtnut.com/l/_zNd1BtpIRrGK
https://dl.doubtnut.com/l/_Dh3a2VOzpAli

| ¥ Watch Video Solution |

Very Short Answer Type Question

1. When a number is multipled by itself the

product is said to be of the number

o Watch Video Solution

2. The number of zeroes at the end of the

square of a number is the number of

zeroes at the end of the number


https://dl.doubtnut.com/l/_Dh3a2VOzpAli
https://dl.doubtnut.com/l/_CCwmdECh5VHs
https://dl.doubtnut.com/l/_sA30SfLIXVTY

° Watch Video Solution

3. When a n 'n' digit number is squared then
the number of digit in the square thus

obtained is

° Watch Video Solution

4. If 7> =49 nad 0.72 = 0.49 then 0.07>

o Watch Video Solution



https://dl.doubtnut.com/l/_sA30SfLIXVTY
https://dl.doubtnut.com/l/_Isdjgnlj6jXk
https://dl.doubtnut.com/l/_Su89e7ZUgl5r

5. The smallest number with which 16 should

be multipled to make it a perfect cube is

o Watch Video Solution

6. The cube root of 125 is

o Watch Video Solution



https://dl.doubtnut.com/l/_Su89e7ZUgl5r
https://dl.doubtnut.com/l/_GcZYY7sgofk7
https://dl.doubtnut.com/l/_a9sd14d7l1zU

7. The square of a proper fraction is always

than itself

A. Less

B. Greater

C.Both

D. None

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_TjFr7wyo0RvH
https://dl.doubtnut.com/l/_zAvCUGlFDbl2

8. The square of an odd number is always odd

Is the given statement true?

A. No

B. Yes

C.Both

D. None

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_zAvCUGlFDbl2

9. The square of a prime number is always

prime is the give statement ture?

° Watch Video Solution

10. The square root of a 4 digit or a 3 digit

(perfect squre ) number is a

number

° Watch Video Solution



https://dl.doubtnut.com/l/_hXbUfgGG9TvH
https://dl.doubtnut.com/l/_JJDJHNYpD4tj

11. If the units digit of a number is 2 then it
does not have a square root .Is the given

statement true?

o Watch Video Solution

12. If the units digit of a perfect square is 5

then the units digit of its square root is

o Watch Video Solution



https://dl.doubtnut.com/l/_7nehLYMuQJ8p
https://dl.doubtnut.com/l/_4WR3iYAcZXGK
https://dl.doubtnut.com/l/_noj1BB5gbizK

13. The square root of a prime number can be
obtained approximately but not exactly .Is the

given statement true?

o Watch Video Solution

14.If x is a non zero number then £ X £ X x

written as is called the of x

° Watch Video Solution



https://dl.doubtnut.com/l/_noj1BB5gbizK
https://dl.doubtnut.com/l/_BHkGxNGAmoJ2

15. A number n is a perfect cube only if there is

an integer m such that n=

° Watch Video Solution

16. The smallest number by which 81 should be

divided to make it a perfect cube is

o Watch Video Solution



https://dl.doubtnut.com/l/_Q3QZMQB99rn5
https://dl.doubtnut.com/l/_vp7KH387aylw

17. The cubes of the digits 1,4,5,6 and 9 are the
number ending in the same digits 1,4,5,6 and 9

respecitively (True/False).

o Watch Video Solution

18. Cubes of the numbers for which the digits
in the units place are 2,8 nd 3,7 end s in

and respectively.

o Watch Video Solution



https://dl.doubtnut.com/l/_9U9QP62V7UwE
https://dl.doubtnut.com/l/_Lswq5S7XZyGZ
https://dl.doubtnut.com/l/_LBJMF8ExqUDL

19. If a number ends in two 9's then its cube

ends in number of 9's.

o Watch Video Solution

20. What is the digit in the units place of the

cube of 317

o Watch Video Solution



https://dl.doubtnut.com/l/_LBJMF8ExqUDL
https://dl.doubtnut.com/l/_hailXk9mmOvd

21. Number of digits in the cube of a two digit

number may be

o Watch Video Solution

22. cube root of a perfect even cube is

and the perfect odd cube is

o Watch Video Solution



https://dl.doubtnut.com/l/_5naSnpsqFkzd
https://dl.doubtnut.com/l/_QvPvc5wmsYFH

23. The cube root of 5 is

o Watch Video Solution

3.43
4.3,/ ——=
Y 10

° Watch Video Solution

25.3v/a® x b=

° Watch Video Solution



https://dl.doubtnut.com/l/_PKFMojcafGCJ
https://dl.doubtnut.com/l/_gxSe5PMEIiwj
https://dl.doubtnut.com/l/_DTyq1tBaEAW9

26. The cube root of (-125) is

o Watch Video Solution

27.216 is the cube of

o Watch Video Solution

28. If m is a cube root of n we write m

o Watch Video Solution



https://dl.doubtnut.com/l/_Csk1OwYVsC86
https://dl.doubtnut.com/l/_YupTvCaBdLLu
https://dl.doubtnut.com/l/_XfXuwyg5YPee

29.3,/0.125 + 3+/0.729-

o Watch Video Solution

o Watch Video Solution

Short Answer Type Question



https://dl.doubtnut.com/l/_XfXuwyg5YPee
https://dl.doubtnut.com/l/_G0VzdiuVEI2L
https://dl.doubtnut.com/l/_taRqe3xo04uE

1. Find the squares of the following number

using the column method .Verify your resutl by

finding th square using the usual method

A. 26

B.33

C.45

D. 84

Answer: (a)679 (b)1089 (c )2025 (d)7056 (e
)9404

o Watch Video Solution



https://dl.doubtnut.com/l/_FBTF2cC2xSVf

2. Given reason describe why the following

number are not perfect squares

A. 1058

B. 7923

C. 134387

D. 253222

Answer: N/A

o Watch Video Solution



https://dl.doubtnut.com/l/_FBTF2cC2xSVf
https://dl.doubtnut.com/l/_TIx2hlTuGLbL

3. If the area of a square is 81 cm? then the

measure of its side is

o Watch Video Solution

4. Find the square of the following number
using the identify (a + b) = a”® + 2ab + b

A. 208

B. 512

C.635


https://dl.doubtnut.com/l/_7z1JOt51eDD0
https://dl.doubtnut.com/l/_GHyLJdoZcBtJ

D.n/a

Answer: (a)4326 (b)262144 (c )403255

° Watch Video Solution

5. Find the square root of the following by the

method of repeated substraction

A. 196

B. 144

C. 121


https://dl.doubtnut.com/l/_GHyLJdoZcBtJ
https://dl.doubtnut.com/l/_BTbzyGghoDRW

D. 81

Answer: (a) 14 (b)12 (c )11 (d)9

° Watch Video Solution

6. Find the square roots of the following using

division method

A. 390625

B. 4489

C.3249


https://dl.doubtnut.com/l/_BTbzyGghoDRW
https://dl.doubtnut.com/l/_PeoqLITRD39j

D. 529

Answer: (a)625 (b)67 (c )57 (d)23

o Watch Video Solution

7. Find the cubes of the following using

alternative method

A.52

B. 24

C. 46


https://dl.doubtnut.com/l/_PeoqLITRD39j
https://dl.doubtnut.com/l/_nuACtAVSESSU

D.72

Answer: (2)140608 (b)13824 (c )97336 (d)35937

° Watch Video Solution

8. Show that the following are not perfect

cubes

A. 54

B. 648

C. 2058


https://dl.doubtnut.com/l/_nuACtAVSESSU
https://dl.doubtnut.com/l/_xbLMJ508ILbb

D.72

Answer: none of them is a perfect cube

° Watch Video Solution

9. Find the cube roots of the following by

finding the digits in the units and tens places

A. 110592

B. 32768

C.2744


https://dl.doubtnut.com/l/_xbLMJ508ILbb
https://dl.doubtnut.com/l/_KlXfLSMvUTeM

D.n/a

Answer: (a)48 (b)32 (c )14

° Watch Video Solution

10. Find the smallest humber which must be
subtracted from the following to make them
perfect cubes What are the corresponding

cube roots?

A.350


https://dl.doubtnut.com/l/_KlXfLSMvUTeM
https://dl.doubtnut.com/l/_8ucpdUE5M5rg

B. 833

C.1400

D. 1730

Answer: (a) 7(b)104 (c )69 (d)104

o Watch Video Solution

11. Find the cube roots of the following using

prime factorisation method

A. 5832


https://dl.doubtnut.com/l/_8ucpdUE5M5rg
https://dl.doubtnut.com/l/_MN2FiNFj7igN

B. 19683

C. 9261

D. 405224

Answer: (a)18 (b)27 (c )21 (d)74

o Watch Video Solution

12. Find the cube roots of the following
numbers by successive subtraction of
numbers: 1, 7,19, 37, 61, 91, 127, 169, 217, 271, 331,

397,64 (ii) 512 (iii) 1728


https://dl.doubtnut.com/l/_MN2FiNFj7igN
https://dl.doubtnut.com/l/_a7YRQqNjwrZV

A. 125

B.343

C. 2197

D.n/a

Answer: (a)5 (b)7 (c )13 13

° Watch Video Solution

13. Mark true (T) or false (f) for the following

statements


https://dl.doubtnut.com/l/_a7YRQqNjwrZV
https://dl.doubtnut.com/l/_zA9njBWxcHCr

3 is also

A.if n a multiple of 2 then n
multiple of 2

B.if n is not a multiple of 2 then n’is also
not a multiple of 2

C.If n ends in 3 then n° ends in 7

D. A perfect cube can end with even numbr

of zeroes

Answer: (a) T(b) T (c)T (d)f (e )T

o Watch Video Solution



https://dl.doubtnut.com/l/_zA9njBWxcHCr
https://dl.doubtnut.com/l/_NI4kpHOfpVpe

14. Find the cube roots of

A. — 343

B. —4913

C. 10648

D.n/a

Answer: (a)-7 (b)-17 (c )-22

o Watch Video Solution



https://dl.doubtnut.com/l/_NI4kpHOfpVpe

15. When twice a non zero positive numbr is
divided by its cube root the quotient is
obtained as 32 .If the cube of the number is
divided by the number itself then the quotient

IS

A.n/a

B.n/a

C.n/a

D.n/a

Answer: 4°


https://dl.doubtnut.com/l/_C5vSPZrziJgi

° View Text Solution

Easy Type Question

1. There is certain number of rows of chairs in
a room .The number of chairs in each row is
thrice the total number of rows. Find the
number of charis in each row and number of
rows in the room if the total number of chairs

is 2187

o Watch Video Solution



https://dl.doubtnut.com/l/_C5vSPZrziJgi
https://dl.doubtnut.com/l/_UrnawAHmkzCe

2. Find the divisor and the quotient given the
dividend is 1035 the divisor is one fourth the

quotient and the remaindr is 11

o Watch Video Solution

3.In a five digit number 1b6a3 a is the greatest
single digit perfect cube and twice of it
exceeds b by 7 .Then the sum of the number

and it cube root is

o Watch Video Solution



https://dl.doubtnut.com/l/_UrnawAHmkzCe
https://dl.doubtnut.com/l/_hamyXP5MKDCC
https://dl.doubtnut.com/l/_iCrNpAKLrnQX

o Watch Video Solution

5. Find the value of 3,/288 x 34/432 x 34/648

o Watch Video Solution



https://dl.doubtnut.com/l/_iCrNpAKLrnQX
https://dl.doubtnut.com/l/_qZf7HvLw43BC
https://dl.doubtnut.com/l/_TaDHGFBQUAH8

1. The least 4 digit number which is a perfect
square is

A. 1024

B. 1016

C. 1036

D. 1044

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_jUlgsV9wSPlO

2. An odd number when multiplied by itself

gives 2401 find the number

A 41

B.39

C. 49

D. 51

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_jUlgsV9wSPlO
https://dl.doubtnut.com/l/_OdZTOvoDDnKX

3. If the units digits of a perfect square is 4

then the units digit of its square root can be

A.only 2

B.only 8

C.Eitheraorb

D. Neither a nor b

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_lCoxAlcUiffW
https://dl.doubtnut.com/l/_wx6VjAXBy1Hz

4. What will be the units digit of the squares

of the following numbers?

A 71

B. 669

C. 2533

D. 30827

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_wx6VjAXBy1Hz

5. Which of the following is not a perfect

square ?

A. 12544

B. 3136

C. 23832

D. 1296

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_LoyGShcEEJls
https://dl.doubtnut.com/l/_a04exCdCj3Dj

6. The smallest number with which 120 should

be multiplied so that the product is a perfect

square is

A. 120

B. 60

C.30

D.15

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_a04exCdCj3Dj
https://dl.doubtnut.com/l/_DeLwtfGkgl9N

7. The greatest 3 digit number which is a

perfect square is

A.729

B.927

C. 961

D. 972

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_DeLwtfGkgl9N

p
8. If p and q are perfect squares then £ is

q

always a rational number .Is the statement
true?

A. yes

B.no

C. cannot be determined

D. none of these

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_L95G4hk78Vxl

9. —ab x b3 x ¢21
[ ] cha12 T e e e e e e o o

— b3
A. .2
5 bet
-
C —ab*
T
5 —bct
T
Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_WEHdvmvR4YPu

10.1f 3(z — 2)° = 507 then x can be

A. 13
B.12
C.15

D. 14

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_udbhhaW7sjuL

11. The value of \/ 1172 — 1082

A. 55
B.45
C.35

D. 65

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_XgLBPf752fTi

36
12. The square root of 5 when corrected to

two decimal places is

A. 2.68

B. 2.69

C.2.67

D. 2.66

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_nnOhIlHq7wzX
https://dl.doubtnut.com/l/_CeY94BXO8Gzq

13. If the product of two equal numbrers is

1444 then the number are

A. 4848

B. 38,38

C.32,32

D.4242

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_CeY94BXO8Gzq

14. The cube of the number p is 16 times the

number Then find p where p #

A4

B.3

C.8

D. 2

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_WoqQ0F2m1REX
https://dl.doubtnut.com/l/_07npRSneAmWo

15. The cube of a humber x is nine times of x

then find xx # Oand x # -3

A.8

B.2

C.4

D.3

Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_07npRSneAmWo

16. The digit in the units place for the cube of

a four digit number of the form xyz8

A.8

B.4

C.2

D.3

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_XP9vJmLZFU2J
https://dl.doubtnut.com/l/_GgRZ8dLXrKdi

17. The digit in the units place for the cube of

the number 12345678 is

A.8

B.2

C.4

D.6

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_GgRZ8dLXrKdi

18. Which of the following number becomes a

perfect cube when we divide the number by 5?

A. 25

B. 125

C.325

D. 3125

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_9872Ewr0C6hK
https://dl.doubtnut.com/l/_fHNsutR1z5gC

19. The least humber to be substracted from

220 so that it become a perfect cube is

A4

B.10

C.16

D. 20

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_fHNsutR1z5gC

20. If (2Y)® = 2%hen find the maximum
possible value of (x)(y)(z) where x,y,z > O

A. 16

B.12

C. 256

D. 24

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_jNHGzeBeOKGP
https://dl.doubtnut.com/l/_uKga5ebVFbHi

21. The smallest number which must be
subtracted from 3400 to make it a perfect

cube is

A. 35

B. 25

C.65

D. 15

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_uKga5ebVFbHi
https://dl.doubtnut.com/l/_gP6uZkNuQkTi

1\ 3
a?
22.If a =2b and b=4c then ( 16bc) =

Al
B.2
C.3

D.4

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_gP6uZkNuQkTi

23. 73 & & 37 91 gui adf &2

A. 16384
B. 23857
C. 18496

D. 11025

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_hHdBIGMFIN1x

24. The least number which must be added to

1200 so that the sum is a perfect square is

A.52

B. 25

C.35

D. 45

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_ewW3sTsvuyEu
https://dl.doubtnut.com/l/_zFjK872Oi6Qi

25. The cube root of 110592 is

A 44

B. 38

C. 58

D. 48

Answer: d

° Watch Video Solution

26.3 36><43><26_
. 87 % 23



https://dl.doubtnut.com/l/_zFjK872Oi6Qi
https://dl.doubtnut.com/l/_kuhvxiQ7Zis3

>

N
§|© §|w | © oo|w

Answer: d

o Watch Video Solution

27. If n is a perfect cube then every prime

factor of 'n' occurs



https://dl.doubtnut.com/l/_kuhvxiQ7Zis3
https://dl.doubtnut.com/l/_4nwpLmMBjdrC

A. one times

B. two times

C.3 times

D. 4 times

Answer: C

o Watch Video Solution

28. The cube root of the number 10648 is



https://dl.doubtnut.com/l/_4nwpLmMBjdrC
https://dl.doubtnut.com/l/_KllSXuWbrtWp

A 42

B.38

C.28

D. 22

Answer: d

° Watch Video Solution

29. The cube of a number ending in 3 ends in



https://dl.doubtnut.com/l/_KllSXuWbrtWp
https://dl.doubtnut.com/l/_xAbCtQpFs96G

A3

B.7

C.9

D. cannot say

Answer: b

o Watch Video Solution

30. If n leaves a remainder 1 when divided by 2
then n° leaves a remainder of

when divided by 2



https://dl.doubtnut.com/l/_xAbCtQpFs96G
https://dl.doubtnut.com/l/_jrihC6PS9vHL

Al

B.2

C.0

D.3

Answer: a

° Watch Video Solution

31.1f 169 =b%> + 25 then find the value of b The

following sentences are the steps involved in


https://dl.doubtnut.com/l/_jrihC6PS9vHL
https://dl.doubtnut.com/l/_AwB9tkfYRbxN

solving the above problem .Arrange them in

sequential order from the first to the last

A. BAC

B. BCA

C. CAB

D. ACB

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_AwB9tkfYRbxN

32. Area of square plot is 6561 m? find the

length of a diagonal of the square plot . The

following are the steps involved in solving the

above problem Arrange them in sequential

order

(A) Area of the square plot
V2 x x = 81/2m

(B) Length of the diagonal
V2 x x = 81/2m

(C)Let the side of the square plot be x cm
(D) .. side of the square plot

/6561 = 81m


https://dl.doubtnut.com/l/_X5kwDjdaMCWa

A. DCBA

B. BCAD

C. CADB

D. ABDC

Answer: c

o Watch Video Solution

33. The length of a diagonal of a square plot is
24 cm find the area of the square plot.

The following are the steps involed in solving


https://dl.doubtnut.com/l/_X5kwDjdaMCWa
https://dl.doubtnut.com/l/_VIt4l3MKFiPm

the above problem .arrange them in
sequential order

(A) Area of the square plot =
% x (24)% = 288cm?

(B) Given that hte length of diagonal of a
square plot (d)=24 cm

(C ) Are of a square when diagonal is given is

1
—d?
2
A. CAB

B. BCA

C. ABC


https://dl.doubtnut.com/l/_VIt4l3MKFiPm

D. BAC

Answer: b

o Watch Video Solution

34. Find the smallest number by which 2592
should be divided so that the quotient is a
perfect cube The folloiwng are the steps
involved in solving the above problem
Arrange them in sequential order

(A) On prime factorisation 2592 =2° x 3


https://dl.doubtnut.com/l/_VIt4l3MKFiPm
https://dl.doubtnut.com/l/_JVjpxfsJK03m

(B) 2592 should be divided by 12 so that the
quotient is a perfect cube
(C) Now 2592 =(6)° x 12

A. ACB

B. ABC

C. CAB

D. CBA

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_JVjpxfsJK03m
https://dl.doubtnut.com/l/_xY321RIszDOe

35. Find the smallest number by which 5400
should be multiplied so that the product is a
perfect cube The following are the steps
involves in solving the above problem .Arrange
them in sequential order (A)
— 5400 = 2° x 3° x 52  (B) on prime
factorisation of 5400 we get 5400=
2X2X2XH5XxHx3IxIx3(C) ... 5400
must be multipled by 5 so that the porduct is
a perfect cube (D) In the prime factorisation of
5400 we observe that 5 has not appeared n

times where n is a multiple of 3


https://dl.doubtnut.com/l/_xY321RIszDOe

A.BACD

B. BADC

C. BDAC

D. ABDC

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_xY321RIszDOe

1. The square root of 102 up to three places of

decimals is

A. 10.098

B. 10.099

C.10.097

D. 10.096

Answer: b

o View Text Solution



https://dl.doubtnut.com/l/_T1Ke5bc90pum
https://dl.doubtnut.com/l/_J8DHCl6WDupw

2. A number is multiplied by half of itselft and

then 32 is added to the product .If the final

result is 130 then find the original number

A4

B.7

C.5

D. 14

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_J8DHCl6WDupw
https://dl.doubtnut.com/l/_mHp3aZf5dfr2

3. A man purchased a plot which is in the
shape of a square .The area of the plot is 12
hectares 3201 m? Find the length of each side
of the plot (in m)’

A. 349

B. 351

C.359

D. 361

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_mHp3aZf5dfr2

4. A certain number of men went to a hotel
.Each man spent as mamy rupee as one fourth
of the men.If the total bill paid was Rs 20449
then how many men visited the hotel?

A. 286

B. 284

C. 281

D. 283

Answer: a


https://dl.doubtnut.com/l/_mHp3aZf5dfr2
https://dl.doubtnut.com/l/_ubpDrA0nJ7r0

° Watch Video Solution

5. Find the divisor given that the dividend is

2200 remainder is 13 the divisor is one third of

the quotient

A. 25

B. 27

C.24

D. none of these

Answer: b


https://dl.doubtnut.com/l/_ubpDrA0nJ7r0
https://dl.doubtnut.com/l/_2e4EOZ98QfGT

° Watch Video Solution

6. The least positive integer with which 661.25
should be multipled so that the product is a

perfect square is

A 4

B.5

C.bothaandb

D. none of these

Answer: b


https://dl.doubtnut.com/l/_2e4EOZ98QfGT
https://dl.doubtnut.com/l/_of8gATpimiff

° Watch Video Solution

1
7. A number is multipled by 2§ times itself

and then 61 is substracted from the product
obtained .If the final result is 9200 then the
number is

A. 36

B.63

C. 67

D. 37


https://dl.doubtnut.com/l/_of8gATpimiff
https://dl.doubtnut.com/l/_6ezN4TKVh4ro

Answer: b

o Watch Video Solution

8. The units digit of the square of a number
and the units digits of the cube of the number
are equal to the units digits of the number
How many values are possibles for the units

digits of such number?

A2

B.4


https://dl.doubtnut.com/l/_6ezN4TKVh4ro
https://dl.doubtnut.com/l/_eM52cMbslYiG

C.5

D.3

Answer: b

° Watch Video Solution

9. what should be added to 2714 to make the

sum a perfect cube?

A.10

B. 517


https://dl.doubtnut.com/l/_eM52cMbslYiG
https://dl.doubtnut.com/l/_pTd3ZzkUqCLQ

C.30

D. 150

Answer: C

o Watch Video Solution

10. When 616 is divided by a certain positive
2
number which is 662—3 % of the quotient it

leaven 16 as the remainder .Find the divisor

A. 20


https://dl.doubtnut.com/l/_pTd3ZzkUqCLQ
https://dl.doubtnut.com/l/_8pEB6sJ44RpW

B.30

C.24

D. 15

Answer: a

o Watch Video Solution

11. If a and b are whole number such that

a’® = 512wherea > band1 < b < 4 then

by/a=


https://dl.doubtnut.com/l/_8pEB6sJ44RpW
https://dl.doubtnut.com/l/_5trDUhIDsdch

A2

B.3

C.4

D. cannot be determined

Answer: a

0 Watch Video Solution

12. Find the value

3v/6075 x 3,/8893bs x 3,/9625

of


https://dl.doubtnut.com/l/_5trDUhIDsdch
https://dl.doubtnut.com/l/_BTmaO0n1wH1y

A. 17355

B. 17255

C. 17315

D. 17325

Answer: d

o Watch Video Solution

13. The sides of /A are denoted by x,ynd z.
Area of the /A and semiperimeter of the A

are denoted by P and q respectively .If P= | /g


https://dl.doubtnut.com/l/_BTmaO0n1wH1y
https://dl.doubtnut.com/l/_AG9OCS3G1GdH

(9-x)(g-y)(g-z) and x+y-z=y+z-x=z+x-y=4 Find P
(in square units)

A.2./3

B.3,/3

C.4,/3

D. 6,/3

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_AG9OCS3G1GdH

14. The units digit of the square of a number
and the units digits of the cube of the number
are equal to the units digits of the number
How many values are possibles for the units
digits of such number?

A 2

B.3

C.4

D.5

Answer: c


https://dl.doubtnut.com/l/_DgL1YBz2t0DO

° Watch Video Solution

15. Find the smallest positive integer that

should be added to 3369 so that sum is

perfect cube

A5

B.4

C.6

D.7

Answer: C


https://dl.doubtnut.com/l/_DgL1YBz2t0DO
https://dl.doubtnut.com/l/_naPGV17mmAf4

° Watch Video Solution

16./1+3+5+7+.. +53=

A 11

B.13

C.7

D.9

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_naPGV17mmAf4
https://dl.doubtnut.com/l/_ZaniknMt5c30

17. What is the least positive integer that

should be subtracted form 2750 so that the

difference is a perfect cube?

A. 15

B.14

C.9

D.6

Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_ZaniknMt5c30
https://dl.doubtnut.com/l/_WatEyqBgoCMD

H8
18. If \/E—k— =31 then which of the
T

following can be the value of x?

A.9
B.1
C.2

D.4

Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_WatEyqBgoCMD
https://dl.doubtnut.com/l/_884iCaSHwnOS

1. In an Atlas, a map occupies gth of a page

with dimensions 25cm and 30cm respectively.

If the real area of the map is 194400m?, the

scale to which the map is drawn, is

A. 1cm = 36x
B.1cm =26 m
C.1lcam=33m

D.1Tcm =23 m


https://dl.doubtnut.com/l/_4VIzWhzWrWJI

Answer: a

o Watch Video Solution

2. The volume of a sperical ball is given by the

4 :
formula V=—7r3 where V is the volume and r

3
is the radius .Find the diameter of the spere
. 117128
whose volueme is m3
21
A.22m
B.1Im

C.33m


https://dl.doubtnut.com/l/_4VIzWhzWrWJI
https://dl.doubtnut.com/l/_jycaoIHZazku

D.44m

Answer: a

o Watch Video Solution

3

3.If a is any natural number then a° — — will

a

always be greater than or equal to

1
A 3a + —
a

a—+1
B.
a

Ca?’—l—i
. "


https://dl.doubtnut.com/l/_jycaoIHZazku
https://dl.doubtnut.com/l/_KO24gGQyCmKv

3(a —1)

Answer: d

° Watch Video Solution

4. In a four digit number 5a3b a > b and

a = b® Then the differecne of the number and

its cube root is

A. 5850

B. 5220


https://dl.doubtnut.com/l/_KO24gGQyCmKv
https://dl.doubtnut.com/l/_AxqX20X3VGWv

C. 5256

D. 5814

Answer: d

o Watch Video Solution

5. In a school there are as many children in
each room as thrice the number of rooms in
the school for the charity each child
contributed an average amount of Rs 5§ If

the total money contributed was Rs 25600


https://dl.doubtnut.com/l/_AxqX20X3VGWv
https://dl.doubtnut.com/l/_PQvXrZwSA5aT

then find the number of children in each room

then find number of children in each room of

the school.

A.40

B. 80

C.120

D. 100

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_PQvXrZwSA5aT
https://dl.doubtnut.com/l/_qYVFYt4qJlQ3

6. Find how many three digit perfect cubes is

there whose sum of the digits is a perfect

square

Al

B.2

C.3

D. 4

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_qYVFYt4qJlQ3
https://dl.doubtnut.com/l/_D5hFC6jqz5yy

7.1f x and y whole number such that y =19683

andy >zand1l <z < 4thenz,/yis

A. 13
B.17
C.3

D.9

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_D5hFC6jqz5yy

